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4. (20%)

The most recent financial statements for GM, follow. Sales for 1997 are projected to
grow by 30%. Interest expense will remain constant; the tax rate and the dividend
payout rate will also remain constant, Costs, ather expsuses, cuzrent assets, and

accowit payable increase spontaneously with sales, —_—
(e} Ifthe firm is operating at full capacily and no new debt or equity is issued, what is Zg:}*
the external financing needed to support the 30% growth rate in sales? ’f}’*\h
(b) Suppose the firmn is operating at only 90% capacity in 1996, What is EFN now? :f_ﬂ
J

L _GM 1996 Income Statement .

Sales 706,000 }ﬂ

Costs 350,000 S

Other expenses 10,600

EBIT $149,000

Interest paid 17,000

Taxable Income $123,000

Tax(35%) _ 43,050

Net Income ' - $79.950

Dividends $35,000

Addition to retained eaming 44,950



MBEUARSE T BE: MmO #'QH SAH
. GM Balance Sheet as of December 31, 1996 _
Assets L Lidbilities and Owner’s Equity
Curtent assets Current Liabilifies ,
Cash $20,000 : Account payable $50.000
Account Receivable 35,000 Notes payable 5,000
Inventory _60,000 Total $55,000
Total - .  -‘$115,000 Long-term debt 120,000
Fixed assets
Net plan and equiment  $275,600 Ohwhner’s equity
Comaon stock and
paid-in surplus $15,000
Retained eaming 200,000
Total $215,000
Total assets $390,000 Tatal liabitities and equity $390,0600
5. (15%)
{a}. Explain the relationship between coupon rate and yield to maturity for prenrium
bend, par bond and discount bond? -
(b). Explain how to measure the degree of aperating leverage (DOL), and de:scnbe
the implications of DOL for project evatuation.
{c). Explain why 2 convertible bond can be decomposed as a sl:ralghi bond plus a
call option on thc stock of the issuing company?
6. {15%) )
() Consider the following information on Stocks T and [I:
Rate of Retuen if Staie Qccurs N
State of Probability of State ¥
Ecomomy of Economy Stock 1 Stock I
Recession 20 A6 -25
Nonnal o 55 _ 47 11

Boom 25 23 H8
The market risk prermium is 8 percent, and the risk-free rate is 6 percent. Which stock
has the most systematic risk? Which one has the most unsysiematic risk? Which stock

is “riskier”? Explain.

(b) Sappose you observe the following sitnation:

_Secun’ty Beta Expected Return
'Oxy Co, 1.35 23
More-On Co. 90 I7

Assume these securities are cotreatly priced. Based on the CAPM, wha is the
expected return on the market? What is the risk-free rate?
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